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QUESTION 1

In the OSPF protocol, the correct one in the following description of DR is (). ()* 

A. Establish an adjacency relationship between DR and BDR 

B. If the priority values of the two routers are equal, the router with the larger Router ID is selected as the DR 

C. By default, all routers in this broadcast network will participate in the DR election 

D. If the priority values of the two routers are different, the router with the smaller priority value is selected as the DR 

Correct Answer: ABC 

 

QUESTION 2

Which of the following statements about the routing table show in the figure are true? 

A. The next hop in the route to the destination network 10.0.3.3/32 is not directly connected. Therefore, the local router
does not forward data packets destined for 10.0.3.3. 

B. The local router forwards data packets destined for 10.0.3.3 from Ethernet0/0/0. 

C. The local router forwards data packets destined for 10.0.2.2 from Erthernet0/0/0. 

D. The local router forwards data packets destined for 10.0.12.1 from Ethernet0/0/0. 

Correct Answer: B 

 

QUESTION 3

Which of the following statements are true about the network shown in the following figure? 
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A. RTA and SWC are in the same collision domain. 

B. SWA and SWB are in the same broadcast domain. 

C. SWA and SWC are in the same collision domain. 

D. SWA and SWC are in the same broadcast domain. 

Correct Answer: D 

 

QUESTION 4

What is correct about the SNMP protocol? () 

A. SNMP protocol uses multicast to send management messages 

B. The SNMP protocol only supports sending management messages on the Ethernet link 

C. SNMP uses ICMP as the network layer protocol 

D. SNMP uses UDP as the transport layer protocol 

Correct Answer: D 

 

 

QUESTION 5

Which layer of protocol does ARP belong to 

A. data link layer 

B. Network layer 

C. Physical layer 
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D. Transport layer 

Correct Answer: A  
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